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All questions carry equal marks.

Question No. 1 is compulsory. Do five questions in all.

Attempt any two from Section A and any two from Section B.
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Answer any five parts in brief : ' 5x3=15

" (@ What do you understand by Terms of Trade ?

(b))  What is a Giffen good ? -

(o) IWhat ils the pref:lau_tionary motive for holding money ?
(d)  What is income el_asticity qf demand ?

(e What is Marginal propensity to Isave (MPS)_?

0 Why does the Marginal Product of a factor decrease as

more of the factor is employed ?
ot ufer ami o @ s ifm
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(&) fifes asg =0 & 2
(W) waut Ryg & faw g5 = "5 = % 2

(%) @AM %Y o9 &g =1 T 2

(9) HH= =@ wgha (Mps) w1 R ?

(w)muaaﬁmmwﬁ@mmamzﬂmam
Fi firar & 2

Section A
(@ug ‘3)
(a)  Explain the meaning of consumers’ surplus. 5

(b)) In what sense ‘is perfect competition allocatively

efficient ? 10
(3) ‘oqu?ﬁm% Ao (se) & ifaa &1 s
IS |
(9) i gfeEnfien § oMeed e fra y@R o
RY)
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3 itution effect of a fall in
i fect and the substitu

Show the income ef

the price of x for a consumer who spends his income on two
1 P
ds x and y and has convex indifference curves, given that
goods

| - 15
both x and y are normal goods.

@mﬁwﬁaﬁmﬂ%a‘raﬁaﬁx@ymm

HA B T IHHT IIEHA Th SART (convex) T, x
R T KITT FH BT W A TG TH IR T
W qUIRY, SEF x TSy G aeqd ¥

(@) Show the equilibrium of a monopolist using a

diagram. 10

()  What is the relationship between the short-run average

cost curves of a firm and its long-run average cost

-curve ? 5

(a)%@ﬁaﬁmﬁwﬁm‘%ﬂﬁﬁﬁ
feamsu | |

(5) 6497

Section B
(@vz ‘=)
If the saving function of a IWo sector economy -
S= »SG + 113y

find the consumption function, and the equilibrium leve] of Income
and Output if autonomous investment s 10. What will be the

value of the multiplier in this economy ?

S=-30+ 113y

TP, SO B SR R a0 % 9

m@mmmmawwaﬁmmﬁw
F AE H= B 2
Explain the relationship between GDP, GNP & GNI. Do you

think GDP is a good measure of economic welfare 2 1045

PTO.
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qehel el IR (GDP), Thel URA ICE (GNP) TH

WU@HW(GNI)%@H@HE%WWJ

1 39 T Hrad § o wehel WY SR (Gpp) snfde

A I S G HOAl T ?

‘Write short notes on any two :

(@)  Comparative advanfagé theory of trade
(b) Functions of money

(¢) Aggregate Spending Function. |

(37) IR F1 GOAT o 1 fagm
(F) W F FH

(@) wrffeh a9 el

7.5+7.5

1,200
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1 All questions carry equal marks.
Z Attempt any five questions.
3. Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.
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2. f&dl dof= uwt & SR <
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Ql Critically review the macroeconomic developments in India after the global economic
crisis in 2008. Discuss the factors that can explain these macroeconomic developments.
2008 ¥ &% nfde g & are qXa § Qe onfeie [Far 67 srar=Tcas dHier 6 | 379
Fuftere anfHs M Y =rear 37 979 HTE! I8 3497 F3

Q2 “Labor regulations in India are supposed to be highly restrictive as compared to several
emerging economies of the world”. Do you agree? Give reasons for your answer. Discuss some
important economic effects of the key labour legislations in India.

ST 3 A1 T gl 3 o SHTEN HecaaeT i ottt ot sreaie uiaduTesE we aet i
ZF2T 37T HEAT &2 ARV 3T < | A H HTT HH B! & S Aecaqor 3T wwral o) =
|

Q3 “On the eve of second world war, then, India remained an imgortant asset in the
economic balance sheet of British Imperialism.” Discuss.

e R g & Ueer o e # RifeRrarsgans & e ek e F vRa v Feeage
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Q4. "During the period between 1890 and 1947 the commercial crops experienced more growth
lhaui the subsistence crops in Indian agriculture” Elaborate this statement and discuss its impact
on food availability and famine during the period in India.

"1890 3R 1947 amﬁmmmmmﬁmﬁmmﬂwﬁ arforfaes

! H D G EE | 3 st iy Riea carear A 9 s 3t 5w 37 ¥ Qe sioer A
SUTERTAT 3R 31ehTel W SHF worrer q¥ == |

Q5 What do you mean by food security? In what ways the agricultural price policy can be an
effective instrument to ensure sufficient returns to farmers along with promoting investment,
technology and productivity in Indian agriculture and thereby achieving food security in India.

T AT 3T o e 2 59 o iy age A et @ wate wfdver g o 3
TIA-RIA HRAT T 3 Fordrer, din T iR seureeser 1 aerar 2o 31 36 ave Ra 3 wra gRef
BIRe et & fore e orrely | e e

Q6 “The economic reforms as initiated since July 1991 failed to deliver a faster, equitable
and labour intensive industrial growth in India” Do you agree? Give reasons for your answer.

What suitable policy options would you suggest to achieve faster, equitable and labour intensive
industrial growth in India?

"@?ﬂé199135@1&“1#%ﬁﬁm}mmﬁ-gﬁwwﬁwﬁm,mmfmwm
Rerrd UeT &R ¥ ftheT T@T 1| ORI 3T e 7 TR S S | TR & g, =araeTd 3R
A YET Tatfaves faesre &R elffier e & Aw s o @ 3§ 30w Afaord fdedt 1 gem
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Q7. “The recent growth pattern of Indian Economy has seen sluggishness in output and
employment growth in the manufacturing sector, in spite of a petiod of relatively high growth
rate of GDP”. Explain this statement in context with dualism which is prevailing in Indian
manufacturing sector. :

T 31eeaa 3 gl & faenrd & TR0 H Hehel Tl 3cUTg o 3TUeTIghd 3T faery X 1 1afy
& araeie TafrsToT 675 & seured R USRI & Tl &l 715" | ARl fafaator e ot vafer
Sqare & e H 50 PUS fr carea HifaT| '

Q8  “The services sector in India has outperformed other sectors but its pattern of growth puts
some concern for its further growth on sustained basis”, Discuss. Suggest suitable policy
measures for achieving sustainable growth of the services sector.

2
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1. Answers may be written either in English or in Hindi, but the same medium
should be used throughout the paper.

2. Attempt any five questions.
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QL. 1) The following table gives details of coste and benefits (in Rs.) of different numbers
of children born to a couple X:

Number | Total Benefits | Additional
of Costs
Children
1 500 100
2 750 100
3 840 100
4 890 100
5 930 100

6 950 100
b 960 100
8 960 100

a) Assuming X to be a nuclear family, calculate the optimum number of
children it should have to maximise its net benefit,

b) Consider another couple Y that lives in a joint family with couple X, Both
Y and X have the same costs and benefits of children, as given in the table
above. Now suppose that 50% of the upbringing costs of each child can be
passed on to the other family and that each couple makes independent
decisions, taking only its own welfare into account. In this situation, how

many children would each couple have in order to maximise its own net
benefit?

¢) Explain, with diagrams, why larger joint families tend to have a larger
number of children per couple. (1,2,5)

ii) Discuss with a numerical example, how the rate of interest would be set in the
informal rural credit market when the risk of default is exogenously given. 73]

Q1. i) f@e afoer 7 & guled %qdmt}a‘rgtraﬁﬁﬁmﬁraﬁmnré
IT8T (T #) &1 Iy §

sedl ﬁ!"ﬁrmw(m!aﬁﬁwm
FET ) i(mt’rﬁ)




[ *(750 100 j
E 840 1100

4 7890 100

I 930 100

T 1950 100

7 7960 100 |
Ts 960’ 100

) XU THer qRaR AW foar i, 9@ 3o o o1 # Hftwad &
& TIU eTheras seat &y sear feaer g

) Uh AR Y gUed X & WY TH HIFT IRAN 7 @l 1 X AR = gq=f &
GART YeT gV wedl T F'ar B e U ey IR arferer # RU AT § 3
AF od & & gcde S=d i walker #1 aeg #5508 3T IRER @
aRd fRar ST FFar § 3R gde dufed @ & Fao U TET F HeATor
o I ¥ AR TEaT Toi wRar § & awdt §r Gear frae @el | =w Rufy
H, A9 T & UG NH F AWFdH 7 F AT T aufeq fvas g=di
I A Fed 7

W A & WY wHeAY F= FRoT § a3 wged aRert & ufy ool Sl
H T g3 &I B ST 87 (1,2,5)

i) U HEICHS 3STgI0T & WY 0T Y 6 o9 AT &7 @A arey
(exogenous)ﬁﬁsfmmﬁmwa dTR H AT @'ERET%H‘NUT
FH G (7)

Q2. In the context of the Harris-Todaro model of rural-urban migration, explain how
urban policies designed to reduce the size of the informal sector end up enlarging it

(15)



Q2. AT 3R Ay varg & ERNG- 2% RAgiad & @ & AT $T agd
AT ATTRSE &7 & HHR T FHA IS F [T AT I, T HTHR
# AraR sa § 2 (15)

Q3. 1) Show that in an economy with extensive possibilities for perfect crop insurance,
fixed rent tenancy must be dominant, irrespective of whether the potential tenants are
risk-averse or risk-neutral. (8)

i) Discuss, citing cases, why land contracts with a clause for eviction may be widely
employed. Further explain, why tenant laws that confer permanent use rights on a tenant
who l}as f'airmed a plot of land for some years might have counterproductive effects on the
security of a tenancy. (4,3)

Q3.1) RE? & Tl wuer 77 & AT cas TuEAT F @y UF yegaeer § Huila
femar e soe gem, o wenfad RRre Sif@esr & awer arer a1 SfeeT aeey &
(8)
ii)mﬁmmaﬁ@weﬁﬁmmwﬁwmﬁr%mmmﬁ
ﬁuﬁaﬁm‘rmﬁ.mwﬁ#mﬁ,a’r@m?ﬁﬁvmﬁaﬁ:ws{\@a

WA #R forar B, T 3wk @ 3fAER o arer @ h ARl #i gRem woIed
T I TEAT & 7 (4,3)

Q4. 1) Discuss how inequalities in the asset market magnify into labour market
inequalities. (5)

ii) Consider a monopolist lender who lends to borrowers on a repeated basis. The loans
are informal and are not backed by written contracts. The lender has no way to recover a
loan if the borrower chooses to default. The lender, however, threatens to cut off credit in
the future to any defaulting borrower. Borrowers discount the next period’s earnings by a
discount factor of 0.5.

Borrowers use the loan in cultivation, where the pruduction can be done using one
of two techniques—first technique requiring initial working capital of Rs. 100 and
producing net output worth Rs. 300; the second technique requiring Rs. 500 of working
capital and yielding net output of Rs. 1000.

a) Find the amount of loan the lender will advance to each borrower every period in
order to maximise his own profits. How much is the scheduled repayment and the
implicit interest rate? What are the profits? How much does the borrower earn

every period from this deal?

b) Suppose now that the lender can keep some of the borrower’s asset as collateral,
which he will seize in case of default. The present value of this asset to the



borrmver is Rs. 300. Recalculate the optimal loan, the repayment amount, implicit
interest and the lender’s and borrower’s profits in this case. (10)

Q4. i) TAT AT O Fufey ToiR FT IHEHETAT ST TR T FTAAA B
dal Tha 82 (5)
ii) UF USHITPR HUTSTar § o U SR YR W KT o dlell P 3UR
H?iwﬁﬁm%mmﬁyﬂﬁﬁ%mwﬁﬁﬂﬁ?l
EYIRETST uﬁ%%{ﬁ%iﬁvgﬂm%;a’rﬂ{ﬂﬁw & T FOT H q¥ell & v
Plg AT FET &1 HOTSTAT grelifer, R ofr andy sorerat @1 sfasT & Hfge aner
el & U gEedar ¥l 3URSAr 0.5 F ge 9 & 39T Al fir H ge
U FA | |

FURSAT Wl & H/UT & 39T S & ST8T 3eUeed H 2y dereiien & &
U T ITITT THAT ST Gohal g--Tgall daeires & 100 T &1 3RfAF i
Tof T SR Tl R 300 T Few F g WA H Icqed gem gE
deheirer H 500 ok Hr Fraeher gefl @ sewa gSelr 3R 1000 T AT UG
3G 39S Bla|
F) U TG &F AH A HAFAT A & &0 TeAF IURGAT & HIY & faw
FOTETAT T FOT &7 et WA 31f0F #em? gia ghidr haer greflr 3R
AT s X FA7 B fhdeT oy @R W 87 IURSAT 39 Hig § & Ay H

fra=AT AT &2

@ 39 T afert F ROEET FHET F ®I H IURSGA! @ d@ufed H J
@ﬁmmﬁaﬁagf:%ﬂm@rﬁmmlmé:ﬁvw
gufead & adHmT Hed 300 T B 3§ RYUfd A ssead =T, T ey,
e sarsT 3R Forerar AR IUREAT F HATH H IHAA0TAT HT (10)

Q5. Explain, with an example, why interlinked credit contracts are a marriage of
convenience in rural markets. (15)

Q5. =arEdT FIFST HT JOH H 3 KOT Sh AAT TR A giawr fr ww
AT B (15)



Q0. Discuss the role of inclusive investment and productive base in understanding the
sustainability of economic development. What does the empirical evidence say in this
regard?

(15)

Q@.aﬂﬁﬁaﬁ?ﬁmaﬁrﬁvﬁﬁmﬁﬁwwﬁaerﬁtmm
AR W TA F| HHEST WIS S/ T & AT FEar 37 (15)

Q7. Trade policy is politically contentious because it has important domestic
distributional consequences. Discuss the effects of globalization on income inequality in
the light of conflicting viewpoints of economists. (15)

Q7. SR AT Tskhfcrr &9 & Raerag & 4ifF sas Fgeayol el
IeRoTeAS o ¥ srdenfeTat F weaw BRI efeEor % yarer & 3y
STAATAAT T dLEThI0T & YHT 9% =] HY|

(15)

Q8. Analyze the world of high-trade theory and the consequences that have led to its

rethinking. What alternatives are being suggested to control the damage to poor
countries? (15)

QS.WW@@H@WWWW?WW#%
Adce farar & 9 farewor fifs (15)
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(a) Briefly explain the Third Working Group (1998) recommendations on compilation
of financial aggregates. Is there any departure from previous method of compilation? If
$0. why?

(b) Explain the endogenous money supply curve. What effect will a rise in the required
reserve ratio have on (i) exogenous money supply curve and on (ii) endogenous money
supply curve? - (9+6)

(a) ﬁﬁﬁuﬂg’ﬁmﬁwﬁmwﬁwmﬂﬁﬁ(1993)3%%%@31?6%@@7?&1@%?1%
wEl e @ foel A 9 fell mer B A= 32 af & o T

(b)Wﬁgﬂ%gﬁ’tmzﬁwﬁﬁmmmﬁmﬁqﬁmmmwﬁ
et @ ov (i) siawte gaT @ Yff 9% uR e ywrg g

(a) How does a commercial bank with market
and adverse selection problem
the problem.

power suffer from imperfect information
? Discuss the strategies adopted by the banks to counter

(b) Discuss the major causes of financial crisis and the

ir impact on aggregate economic
activity.

(10+5)

-~
Maximum Marks : 7_‘_)
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(@) 9k &1 ¥fe & Wy go afiae feeagl are aiv aiemd W e 9 Y TR
BRN 8?7 T TR BT Hepraen v @ (g 6T g e T cordifeat @ et i |

(b) faxiiy <ee & ygm wRrol @R gat omlfe TRRR W T9F wiEr @ W @6 B

(a) What do you mean by derivative instruments? Discuss the profit/loss profiles in long
call options contract, using a suitable diagram.,

(b) How does profit and loss in equity position of an investor in futures contract depend

on margin requirements? What is the degree of leverage in the futures market?
(10+5)

(a) TRTE  ohew= (sRafed gweive) & A a wae™ &7 SUG G FT ST TR §Y
U LB Biel Alfer argde 3 ot /ey eme @) g4l o |

(b) arveT orvqdy % v fawre @ 3t A Rafy & a7 ok o A snawawanlt w® AR
RAT 87 IR IR A A 9o @) Tl @ 22

(a) Suppose a bond that matures in one year issued by a corporation has a rating B.
Given this rating, there is a 90% chance that a firm will pay its obligation in full and the
bond holder will receive $1050 at the end of one year. There will be a 10% chance that
the firm will be unable to meet its debt obligation. If the bond holder wants to earn 5%
rate of interest at the end of one year
(1)  What price will he be willing to pay to purchase this bond?
(i)  What price will the investor be willing to-pay for a default free government
bond that promises to yield $1050 at the end of a year with a rate of interest
of 5%?

(iii) What are the values of yield to maturity for both types of bonds given the
assumption that both bonds do meet their obligations?

(b) Examine the impact of the following changes on the interest rate a firm pays for
loanable funds.

(i) An increase in liquidity risk of the firm’s bond.
(11) An increase in inflationary expectations.

(ili) An increase in firm’s default risk (6+9)

(a) A & wep e &N W) {6y g T B ve dv9 oY o af ¥ aRugw @n @ 5w 3T @
SEd gY g8 W 90% "1 § & v wH v Tl w1 gof qaam v 9l ave @ 9 @

sict & $1050 W BV | UET W 10% HGT & 6 03 G oo wol AR B q@r wedt § st
21 ST | Tl 9iE URE Bl U WA B 3T H 5% @l @) R FAMT arEar

(i) 9% 39 afs 3 WIE @ fAY 7 BT YIae o= & g FIR & we?

(ii) e o fewice I WON 48 Sl U W @ 3T ¥ 5% =t o @ @
$1050 TUS BT ATET BRAT & D AU R HHT TR B B AR B S
(i)l @<t @7 3+ <ified 1 QX1 XA B AR D B W ) qie) @ v gRyamar

TOA D T g1 87

(b) e H4 @ WO AT Y B A A R W B w®W R A aRad B ) @ i
B |



() B4 & qe & axerar A § 98|
(1) Gy @ andemalt § gfE |
(i)wd & fRwice Wigw 7 gfy
5. (a) Using Expectations Hypothesis and Segmented Market Hypothesis, explain different
shapes of yield curves.

(b) The interest rate on a one year government bond is 4%, the rate on a two year
government bond is 7% and the rate on a three year government bond is 9%

(1) Describe the shape of the yield curve.
(1) Use the expectations hypothesis to determine the market’s forecast of the one
year rate next year.
(ii1) What is the market’s forecast of the one year rate after two years? (10+5)
(2) SHIT IRee iR Wi aom ARG 1 SYANT HRd gY SN gBt F AT sepfat @
[T BT |
(b) T% T TiE PRI df R @ R 4%, [F A TG WIN I8 W A R 7% 2 AR TP
o ol RN 9iE W R 9% R,
(1) SU aF &) AHR FT o R |
(i) v a¥ 3 R TR @ yafgae § el wrd RuiRa @ o= @ g =i aReeqw
BT AT & |
(ii) & W & a7 vF o€ N W W qOIR B qagEe w@qp {7

6. (a) "Basel 111 is not a negation but an enhancement of Basel II’. Explain this statement in
reference to capital requirement norms.

(b) Why is asset securitization considered a financial innovation? What are the benefits
offered Lo the issuers of loans? (8+7)

() e 111 Uo g9oR =& e ante [ R R 2 ol o emavawar frodt & wed ¥ =9
TITH O ARET DI |

(b) Hufexr wiengfRreRor v faxiia TareR @f 9191 SIRT 8?7 01 3 WRedl @ Y BN Bre) @)
N
7. (a) Discuss the role of money supply as an intermediate target to achieve the objectives
of monetary policy. .

(b) ‘It is not merely the number of instruments that is important but the number of
instruments exerting independent effects on the target variables’. Explain this statement
in the context of monetary policy instruments and targets. (7+8)

(a) (H“T@’:ﬁfi‘rf?rzb“G%wﬁﬁwaﬂﬁa%fﬁvwﬁwa?ﬁa&ua%wﬁgmaﬁmgﬁaﬁﬁmnw
aal B |
(b) R sumwll @ Fe & FEAgel 8§ afew Heapl a8 & R ey Suake @e a W
wWad w9 d Hﬁmw}?'ﬁmmﬁmﬁmaaﬂﬁ?%WﬁWmuqz}ﬁa“tc,{u
B |
8. Write short notes on any two of the following (1.5+7.5)
(i) Appropriate banking structure that promotes fast and inclusive growth
(iiy  Principal-Agent problem in equity contracts
(iii) lLags in operations of monetary policy
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(1) SUYFRT dfdsr @Raar off {6 oo i) wwrasht ferg @ agrar <l 2 |
(11) $fFadl @y # Ue--voic T |
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